Multiplication et Division par 0,1 (G)

Trouvez chaque produit ou quotient.

11x0,1= 72%x0,1=
6x0,1= 70 +0,1=
43 x 0,1 = 59 +0,1=
15 +0,1= 62%0,1=
31+0,1= 13x0,1=
5+0,1= 91+0,1=
11+0,1= 90 x 0,1 =
31+0,1= 76 X 0,1 =
66 X 0,1 = 100 x 0,1 =
86+ 0,1 = 98 x 0,1 =

MathsLibres.Com




Multiplication et Division par 0,1 (G) Solutions

Trouvez chaque produit ou quotient.

11x01=1,1 72X01=7,2
6x01=0,6 70+ 0,1=700
43 x0,1=4,3 59 + 0,1 =590
15+0,1=150 62 x0,1=6,2
31+ 0,1=310 13x0,1=1,3
5+0,1=50 91 +0,1=910
11+0,1=110 90x0,1=9
31+0,1=310 76 x0,1=7,6
66 X 0,1 =6,6 100 x 0,1 =10
86 +~ 0,1 =860 98 x0,1=9,8
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